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ELEMENTARY EDUCATION COMPLETION CERTIFICATE EXAM 2024

P& — 8 ( CLASS -8)

favg — fasm=
Subject- Science
HAT U9 UA
Sample Question Paper
aafer —  2:30 GV quiis — 80
Duration 2:30 hours Max.Marks — 8o
JEITS UeT (1<8)
Objective Type Questions (1-8)
U4 599 & YUl G5 DIl favell 9 gl 8- 1
(37) sffeRiroT (@) regTorT
SIEIERRSESIENIES (3) B1Ew A SIS S (

Which poisonous gas is formed due to incomplete combustion of fuel ?

(a)Oxygen (b) Nitrogen
(c)Carbon dioxide (d) Carbon mono oxide [ ]
g2 BRI H DIMENET S8 B AT o— 1
(@) Tardrsn (@) AgASH
(W) prae (=) UgTet ()
Which liquid fuel is used at home ?
(a)LPG (b)CNG
(c)Coal (d)Petrol [ ]



U3 3MMY qAIe Bl b D [oTY FT GG S — 1

(31) BRTS BT G: SYANT (@) ST BT T TS

() BRI BT Fod BT (@) Sua T ()

What suggestions would you give for stopping deforestation?

(a) Re- using paper (b) Re- cycling of paper

(c) Saving paper (d) All the above []
geT:4 AGRT BT AHD © — 1

(31) HHTS @) A=

() & (@) = ()

The unit of frequency -

(a)Second (b) Meter

(c)Hertz (d)Newton [ ]

U5 AT Al H €l UGNl BH PRI B MU U A BT e H | Fm gsig <9 1
(@1) <enfas qur e & s ugerdr HH Bl
(@) 3irenfire 7=l &I WEH g oI
() arei @ B BT STIRT HH HIAT
(7) SR ()

Which of the following suggestions would you give your friend to reduce noise pollution

in-residential‘areas-

(a) Reduce the sound volume of television and radio
(b) Setting up industrial Machines away from the city
(c) Reduce the use of vehicle horns.

(d) All the above [



U6 7 H 4 Pl ucrR AT &1 gerdd © — 1

SIS (@) vafAfem
(@) THS! (%) wiies ()
Which of the following substance is a good conductor of electricity-

(a)Rubber (b)Aluminium

(c)Wood (d)Plastic [ ]

ge7 N R, Asfra @1 efvea, ufedl & R¥ anfk W wifvaw & fagfa. o=, ot faa

ST & 1
(31) PIFIH THHER B R |

) I8 FeRa T8} Bl 2 |
) I8 TRl BT YR HRel B |
) Sudad w4 ()

Why is chromium electroplating done on gas burners, bicycle handlebars, wheel rims

RO

)

etc--
(@) Chromium has a shiny ‘appearance.
(b) It does not get corroded.

(c) It resists scratches

(d) All the above [ ]
ge:8 MY . 7 9 ¥ gvur gRT ST | Maf¥id T8l R Wahd © — 1

@) Red bt () Hell T &R

() dfa @1 axg @) S Ve ()

Which of the following cannot be easily charged by friction ?

(a) Plastic scale (b) Inflated ballon

(c) Copper object (d) Woolen Sweater [ ]



JfITERIS U (9—12)

Very Short Answer type Questions (9-12)

gt 9 1 7 9 RieS & RIS T e AeEl T aRon # fRag | 2
e, U @, Iwel, frsda 7, BT
Write the traditional and modern techniques/methods of Irrigation in

the following table-

Moat, Drip system, Dhekli, Sprinkler system, Rahat (lever system)

<IN / Ans
URAIRS AT Tgfere AT
Traditional techniques/methods | Modern techniques/methods
1. 1.
2. 2.
3. 3.
4, 4.
g3 10 Ufooifde iufeRl & fAHiop & oy fhddr START Hear? 2

What will you use in the manufacturing of antibiotic medicines?

<IN / Ans

T 11 QA GLSl oI HLUASH & 91 A forfayg | 1+1=2
Write the full form of LPG and CNG ?

3R / Ans
(1) TAGLST /LPG:

(2) HI.TA.STT / CNG:




g 12 Rl BIeeR S (Wgdd) & STIRT Tl A o7 2

Why do players use spiked shoes ?

¥} / Ans
e 13 e PRy — 4x1 =4
(31) IS IRB 1 3T & QT Bl A 3T BT
(3) PrED W& 2 RAT Td FUR BR$S
@) WD B 3 Uy IUfRfE, MER, Uy IRy
(=) gfrT 419 YA HIPT

Match the following

(a )Chemical Fertilizer (1) Separation of grain from chaff.
(b) Carbonic Manure (2) Urea and super phosphate
(c) Kharif crop (3) Animal waste, cow dung, plant matter
(d) Threshing (4) Rice and corn
U 14 FASEIO RGO H ISITGIA SHA1Y] & Ao bl FHSSY | 4

Explain the importance of Rhizobium bacteria in nitrogen fixation ?

I3IN / Ans




g 15 FrHfoRad deel @& ame 9d /3R folkag — 4x1=4

(@) Siarew go qAT B aTel WA § [ ]
(a) Fossil fuels are exhaustible resources . [ ]
(@) BRI g USIel RAAT TR ¢ | [ ]
(b) Coal and Petrol are unlimited resources. [ ]
(M) Premr faf= gt &1 fser 2 [ ]
(c) Coal tar is a mixture of different substances . [ ]

(@) YIS, A9 BT SUANT 7REH, A, Il NS g H b st 2 [ ]

(d) Paraffin , wax are used in making ointment, candle, Vaseline etc . [ ]

9 16 &8 3R ST H P18 & IR oIy | 2%2 =4

Write any two differences between Combustion and Flame ?

5l ST
Combustion Flame
1 1.
2 2.
ge: 17 99 1 3R, U DIfSTY — 2+42=4
CRSESIARSED
() Sta-fafderar

Explain the meaning of the following-
(a) Red Data Book
(b) Biodiversity

IR(31) / Ans(a)




IR(4) / Ans(b)

g 18 Raa el a1 oftf Sfua st g™1 g — 4x1 =4
( fggvsH, BIRgl, SRIYS, 3veidh, Horad, e )
(@1) SFNET oo §RT S &xaT § |
(&) STUSTY UG I BT FATT oo FHEAILT |
(@) W=, TR, UE g SR Sig O RIY B T QA L, BT Sig Ped © |
(@) FHAT ERT T oo H BT B

Fill in the blanks using appropriate words-
[ binary fusion , Hydra, viviparous, oviparous fusion, fertilisation ]

1- Amoeba reproduces by
2- The fusion of an egg and sperm is called
3- Animals suchas human beings, cows and dogs which give birth to young ones are called

animals.

4

Reproduction by budding takes place in

U 19, [ SR 91 H TR DI I §RT FASMSY 2 4
Explain the relationship between pressure and force through a formula ?

3N / Ans




U%: 20 JETERVT Sb] SIS [ GYOT 3y o i Ml Y © ? 4

Explain by giving an example how friction is both enemy and friend ?

<IN / Ans

oo 21 freforiad @1 @ Sy — 2+2 =4
(31) gareT® dared
@) faga arRT &1 A HE- G
Explain the following-
(a) Conductor Material
(b).Chemical effect of electric current

IR(31)/ Ans(a)

IR(d) / Ans(b)




U 22 IO Al DI SFAT @I BRI D oY AT G oAy | 4

Write two suggestions for taking proper care of our eyes.

33N/ Ans(1)

(2)

U 23 (31) Fedh GR&T | HarRd a1 M foaRag | 4+2+2 =8
@) 989 A= 9 ofiaR® e # I a1 &R forftay |
() #a ®of &1 AMifed I 9918 |

(a) Write two rules related to Road safety..
(b) Write any two difference between external fertilisation and internal fertilisation .

(c) Draw a labelled diagram of Human ear .

S PEI
OR

(@1) ared ged A fHe—foe ardl &1 '=e @ aney |
(@) 3T ST @1 fh<l U fafy @1 afes auie $ifvT |
()= ugyor @ FEfa @ & forg <1 surg faRag |

(a) What precautions should you keep in mind while driving?

(b) Describe any one method of asexual reproduction with the help of a labelled
diagram.

(c) Write two measures to control noise pollution .

IR(31) / Ans(a)




IR(4) / Ans(b)

IR(H) / Ans(c)

U 24 (31) R SMBR W 3MMY T FHA 27 Aol H Magddh UG Uareil & 4+4 =8
H HEd ©7

(@) g1 fHell avg @1 Mg # uReds, & FhdT 27 IR ThR W DI |

SR
(@) A9 & IRR ¥ JA- S G & AW forgar St Reafr &1 Amifea =
ERIE

(@) &g 99 PI IR IR 919 STedl &7 I gRT a9y |

(a) What do you understand by a balanced diet? What is the importance of essential
nutrients in food?
(b) Force can change the shape of any object? Explain with the help of example.

OR
(a) Write the names of Endocrine glands of human body and draw a labeled diagram of
their position in human body.
(b) Liquid exerts pressure on the walls of a vessel? Explain with the help of a diagram.

10



IR(31) / Ans(a)

IR(d) / Ans(b)

g 25 (31) ST aTcid &1 5 I T8y, I8 fhd JdR Ha+l &l dagd & J491d |
A H S BIar &7 4+4 =8

(@) WRradd fha UBR B 8lar 5/ sl IR FHsIsy |
31T
(@7) Sfoa s IR e BN [ FHE Y T R BT Ufieiid axd ¥
(@) TR {5 BEd.27. ST form a9 FHEET | WRaad & G e faRag |

(a) (Draw a diagram of lightning conductor and explain how it helps in protecting
buildings from the effect of lightning?
(b) How many types of Reflection? Draw diagram and explain.

OR
(a) Draw a suitable diagram to explain that like charges repel each other.
(b) What is Reflection? Explain with suitable diagram. Write the two rules of Reflection.

IR(31) / Ans(a)

11



IR(E) / Ans(b)

12



